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GSQ/M-20 1685
ECONOMICS PUBLIC FINANCE
Option (i)
Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. Nos. 1 & 2 are
compulsory. Rest three questions can be attempted from
any three Units, selecting one question from each Unit.
dy ikp i'uk d mlj nife, A iu I3k 1 0 2
viuok; g A "K% riu 1'u fdigh rtu bdib;k e 1 ,d
i1'u pur g, difg, A

1. In India, fiscal policy has failed to check economic
inequalities and to solve the problem of unemployment.
Moreover, economy is slowing down. On this basis,
answer the following questions :

Hkjr e jkedith; ubfr vidFkd vilelurk dk Aviu e vIiily
Joh g rRk cjkexigh dh Bel;k dk Hib mfpr <x 1 ugh Ty>f
Idh g A VHO;OLFk Hit ILr g A bl wi/Zkj 1) fuEufyfkr
i"uk d mlkj nft, %

(i)  State the contribution of fiscal policy in India.

Hkjr e jkedih; urfr dk skxnlu crib, A
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(ii)

(iii)

(iv)
2. (a)
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What are the four shortcomings of this policy ?
bl utfr dh pkj dfe;k crib, A

How slowdown of the economy can be eliminated

by fiscal policy ?

jeediih; unfr 1 Higrh;  vAO;olFk dh  ILrhide
fodkl nj dk dlI Bid fd;k & Idrk g \

What are the instruments of fiscal policy that can

help in after effects of corona virus ? 4x4=16

jeedith; unfr d - dl midj.k dijluk ok;j1 d
iHikok dk nj dju e Igk;d gix \

Match the following with their correct answer : 1x§

(i)  Public good 1.
(i) Non-rival 2.
(iii)) Non-excludable 3.
(iv) Fishing pond 4.

(v) Paul A. Samuelson 5.

Common property
resource

Club goods
Non-rival & non-
excludable

Mixed goods
Public goods

furufyf[kr ok mud Bgh mikj 1 feyk; %

(i) lotfud olr,

1.
(i) Xj&ifr}nh 2.
3

(i) voitr

(iv) eNyh riykc

vy 1ty ,- IE;vYlu s

2

b

vie d.M 11/u
Dyc olr,
xj&ifrLi/h o
voitr

fefkr oLr,
liotfud olr,
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(b)

(3)L-1685

Choose the correct answer from the given

alternatives : 5x1

fn; x; fodYik 1 Igh mlj ok p;u dift, 4

(1)

(ii)

(iii)

When tax is imposed as a fixed portion of
income, it is known as :

(1) Proportional tax (2) Progressive tax
(3) Regressive tax (4) Degressive tax
tc dj vi; d ,d fuf'pr vuilr e yxi;k
trk g] rk ml dgk thrk g b

(1) viuikrd dj (2) ixfriiy dj

(3) ifrxien dj 4) v/ixieh dj
GST is an example of :

(1) ad valorem taxes (2) specific taxes

(3) direct taxes (4) indirect taxes
GST ,d mnigj.k g %

My eY;ullj dj di @) foftv dj d
@) it dj d @ vit{k dj ok
Which of the following is not a classification
of public debt ?

(1) Gross and net

(2) Sensible and non-sensible

(3) Productive and unproductive

(4) Funded and unfunded
3
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(iv)

)

futufyf[kr e 1 diulk lotfud %.k dk
oxadj.k ugh g \

(1) Idy wvij "W

(2) mfpr wvij wufpr

(3) mikndh; rFk wvuRikndh;

@ difir vij xj&difr

Due to direct taxes, disposable income of the
people :

(1) rises (2) falls

(3) remains constant (4) none of these
i;{k djf d yxiu 1 yixk dh miHix d
fy, wvi; b

(1) c<rh g (2) de girh g

(3) fLRj jogrh g (4) bue 1 dib ugn
Cyclical unemployment arises due to :

(1) external factors

(2) internal factors

(3) structural factors

(4) none of the above

pdh; cjkexijh d milu g dk dij.k g b
(1) cigih dj

() virfjd dijd

3) ljpuked dijd

(4) mi;Dr e 1 dib ugh

4
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(c) Short answer type questions : 2x2=4
(i) Differentiate between revenue and capital
expenditure
(i) Two examples of non-tax revenue of Govt.
y& mlh; itu %
(i) jktlo 0;; o ithxr 0;; e wirj crib, A
Giy ljdj d xj&édj jitlo d i d nk
mnkgj .k nhft, A

Unit I (bdkb 1)

3. Define Public Finance. State the difference between public

and private finance.

lotfud folk dh ifjHkk nift, A lotfud folk o futh
folk e wirj dift, A

or (VFkok)

4. Explain with the help of diagrams the conditions of

maximum social advantage.

i[ifpsk oh Igi;rk 1 viZdre Dielfed yieh dh “irk db
0;4[:k dift, 4

Unit IT (bdkb 1II)

5. Explain the effects of public expenditure in an economy.

VHO;oLFk e Notfud 0;; d iHkok dk o.ku dift, A
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or (VFkok)

What are the canons of public expenditure ? Also explain
Wagner and Wiseman Peacock law of public expenditure.

ltotfud 0;; d f0%rk dh O;k[;k dnft, A oxuj o
olbteu fidid d lotfud 0;; d fu;ek dk Hh crib, A

Unit ITI (bdkb 1II)

Discuss the factors which determine the shifting of a tax.

djt d fooru dk fu/ifjr dju oty rlok dk o.lu dift, A
or (VFkok)

What is a Tax ? Explain its canons and effects.

dj fdl dgr g \ bld f1¥%rk wvij iHkok dk o.ku
dift, A

Unit IV (bdkb 1V)

What do you mean by deficit financing ? Explain its
objectives and limitations.

W dh foli&o;olFk fdl dgr g \ bld mi*;k o Nhekvk
d clj e crib, A

or (vFkok)

Define government budget. Explain its components and

types. What can be the objectives of a budget ?
Ijdijh ctV di 1fjHifkr dife, A bld Avdk wvij 1digk di

o.lu dift, A ctV d mi";k dk Hh o.ku dhft, A
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